Today we will be:
Using rulers to measure length and height.
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Starter Half of two
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22221

Half of four
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12%25@ Half of twelve

is six!

Half of fourteen

is seven! V&=
1@%253 Half of sixteen

is eight!
Half of eighteen 19 < 5
is nine! 1 : 2 @

Half of twenty

20-2=10 is ten!
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What is this? What does it measure?

What units do they measure?
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This is a ruler. It measures the size of things. Rulers can
tell you height, width, length and depth of things. This

ruler measures in centimetres (cm). It is 30cm long. (
@
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This ruler shows centimetres and millimetres. i
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Millimetres are smaller than centimetres.
10mm is the same as Tcm. 100mm is the same as

10cm. How many millimetres is 5cm?

Ocm Tem 2cm 3ecm 4cm 5em bcm /cm 8cm Y9cm 10cm
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This ruler is 100cm long. 100cm is the same

as ITm. Centimetres are smaller than metres.

Where is the arrow pointing to on the metre

ruler?
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How long is this pencil?

Use the ruler to work out the answer.
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The pencil is 15cm long. Did you notice one end of the

pencil exactly lines up with the Ocm marker on the ruler?

Ocm 15cm
L2 S i ST Y (Y R d i B ¥ oA T B S 5 o D - s e e i N ) e S o fe e o 2 e e T
an :{ ::'; 4 ; & '? -a 9 'IL 5 [ R S 19 20 21 % 2'3 1'4 21; l *1]7 z‘a :fﬁ a‘a

00E 067 082 0[7 092 osz 0vZ 0Ez Ozz Olz 00z 06l 0Bl OzL 09L OSL OpL OFL O Ol 00t 06 08 O/ 09 0S Oy Of O OLuuo
Lot deatt el contb ket oot Dol Lo 00 ot Lt ban Dot e o ontt el ettt eae sttt Lot 000 Dot Bttt Lot s Lot e Dot Lottt bhens Dottt Dstbbons vt et b Bt e

BACK NEXT

www.planbee.com



http://www.planbee.com

How long is this chocolate bar?

Use the ruler to work out the answer.
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Hmmmmm, I forgot to line up one end of

the chocolate bar with the Ocm mark on

Ocm the ruler. Let’s try again!
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The chocolate bar is 10cm long.
How long would a chocolate bar that is

double the length of this one be?

Ocm
10cm
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It would be 20cm long.

Ocm 10cm 10cm
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This chocolate bar is 8cm long.
How long would a chocolate bar that is

Ocm double the length of this one be?
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How long would a chocolate bar that is

half the length of this one be?

Ocm
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Ocm 4cm

It is 4cm long.

Half 8 is 4.
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How long are these

objects?

Which is the longest?

Which is the shortest?
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|__bcm The chalk is the

shortest. The pen is the

longest.

5cm
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Half of Tm (100cm) is 50cm.
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